



Trainor Ag Products, LLC
USA

Rolwing Moxley Ag LLC
PO Box 475
1 E Mill Street
Charleston, MO 63834
USA

Page 1 / 1

Vendor Invoice No. 11179 - RMAG

Vendor No.	V01196	Document Date	01/16/26
BC Internal Purchase Invoice:	109604	Due Date	02/15/26
		Payment Terms	15th Day of Next Month

No.	Description	Location Code	Quantity	Unit of Measure	Unit Cost	Amount (USD)
SD251.NK.2519.10	NK 39-M8XF	RMAG	280.00	Unit	45.00	12,600.00
280.00 UN	20940852					
SD251.NK.2543.10	NK 47-U1XFS	RMAG	80.00	Unit	45.00	3,600.00
80.00 UN	20932389					
SD251.SE.2527.10	Seitec G431XF/STS	RMAG	300.00	Unit	43.84	13,152.00
300.00 UN	25SAF1BX					
SD251.SE.2535.10	Seitec J497XF	RMAG	150.00	Unit	43.84	6,576.00
150.00 UN	25ZEF2BX					
PK700.7075.10	Probox	RMAG	18.00	Each	1.00	18.00
9.00 EA	NK					
9.00 EA	SEITEC					

Subtotal	35,946.00
Sales Tax Amount	0.00
Total (USD)	35,946.00
Exempt Amount	35,946.00
Taxable Amount	0.00

Phone No. : 573-683-3741 | Email : josh@rolwingmoxleyag.com

TRAINOR AG PRODUCTS, LLC
 5380 State Rt. 146 E.
 Anna, IL 62906

DELIVERY SLIP

RD 11179

From: RDC		DATE	1-16-26
SOLD TO Rowling Moxley			
ADDRESS			
SHIP TO			
ADDRESS Gary			
QUANTITY	DESCRIPTION		
2800	NK-34M8xF	20940852	7-400 Bx UNT
800	NK-47U1XFS	20932389	2-400 Bx UNT
3000	G431xF/STS	25SAF1BX	6-500 Bx UNT
1500	J497XF	25ZEF2 BX	3-500 Bx UNT
9	NK Bxs		
9	Seitec Bxs		

- 45
 - 45
 - 43.84
 - 43.84

TRAINOR AG PRODUCTS, LLC

5380 State Rt. 146 E.

Anna, IL 62906

DELIVERY SLIP

RD 11179

From ROC		DATE	1-16-26
SOLD TO Rowling Monday			
ADDRESS			
SHIP TO			
ADDRESS 6007			
QUANTITY	DESCRIPTION		
2800	NK-39MBxT	20940B52	7-400 Bx UNT
800	NK-4701xTS	20932389	2-400 Bx UNT
3000	6431xT/STS	25SAF1BX	6-500 Bx UNT
1500	5497XF	25ZEF2 BX	3-500 Bx UNT
9	NK Bxs		
9	Selec Bxs		
A-E-V			

